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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

1-- 	 December, 2014 

O 
	(APPLICATION ORIENTED COURSE) 

AMK-1 : MARKETING 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt both part A and part B. 

PART - A 

	

1. 	Distinguish between any two of the following : 5+5 

(a) Dissatisfaction and dissonance 

(b) Departmental stores and super bazar 

(c) Market price and competitive price 

(d) Packing and packaging 

	

2. 	Write short notes on any two of the following : 5+5 
(a) Features of organisational markets 

(b) Push strategy of promotion 

(c) Risk bearing function of retailers 

(d) Freight absorption pricing 
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PART - B 

Attempt any three of the following : 

3. Distinguish between trading up and trading 6+4 
down. How do you contract product mix ? 

4. How are industrial markets different from reseller 5+5 
markets ? Summarise the bases of segmenting 
consumer markets. 

5. What do you mean by hierarchy of effects of 5+5 
advertisement ? Compare and contrast 
comparative advertisements with institutional 
advertisements. 

6. How do you manage channel conflicts ? Can 5+5 
intermediaries be eliminated ? 

7. Differentiate between perceived value pricing and 6+4 
going-rate pricing. How are these determined ? 

8. How is marketing mix changed and adjusted 10 
during various stages of Product Life Cycle ? 
Explain with examples. 
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1. 	r-p-irofigd 	ictr.a t 3f-d7 	: 
	

5+5 

(a) aTTrAftz (Dissatisfaction) - -1-1 
(dissonance) 

(b) fqiiTThr 	cr TTTT 	lk 

(c) G11\311( ITT 72ITli'cl 41)F4111 	Tc 

(d) -ff2TT 	if 

	

2. 	r-V--IRir(.lcf 	t TA117 kuiruigt fit 17 : 5+5 

(a) 44 	I CH I CH ch .1741t 	raq 	 

(b) #4.49 	 VI (Push)c1 

(c) 4t ow-iirt1). 	71-ftp:r 7-6-r4 	cbt 	4 
(d) 1-TT T3-T4'4111517 	fi4iTuT (Freight Absorption 

Pricing) 
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*9-  -51-79)t 	dT-R Th-ft17 : 

3. Tell Hi-1 	04i I R (trading up) 	4-11(1 	0W4R 6+4 

(trading down) -4 3-17-4771 -TO:fl-q f-14$3111 -1 #T7i 

a-Tcf 	? 

4. 3-1Wrirr-  *ARcclIqr7A-rff 	ichlt f9T9 t ? 5+5 

-cr9.-1-1--1?rrqR-r4 45'Iorror 3-Trtrr4r 

5. -Fq7.11:19. -511-TT4 	fa -€701 (hierarchy of effects) 5+5 

ctql T-o74 t ? v-rto-r=t) faJr7a 72F TIt-2TITIff fa-Jr-7a 

cb 	 d-14 

6. facer -17rarT4*31.-a--eg ( -9-faTcraf) 	 31-rcr 

t? or-qt war-T-2.ff 	ta-rar 	cI 	d r t? oiRs.ec 

.-1f--A7 

7. 31T-T dt-lq 41c11 TtF4 fffqtIT (perceived value pricing) 

ff2TT 

	

	-1=p1 -F9NiTiT (going rate pricing) atd-T 

faliff-Tff fwar ,ficir 

8. dciAtql 	-c49h (Product Life Cycle) 	1 	iriT9 	10 
31-179-11311 	facrurq frf3T 	Lirkaci-r a Trwrktqa- 

fTTIT \311d1 	3q1(ul Trkff 	 11A7 I 

5+5 

6+4 

AMK-1 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

